Moltiplicazioni semplici

Risolvi le seguenti moltiplicazioni.

Esempio: 6 -7 = 42

10.

11

12.

13.

14.

15.

4.9

7-8

3-3

14-6

. 11-8

31-4

9-9

82-6

15-5

13-9

22-5

1083 - 3

8417

205 -4

Sedooc.com

2-110

3-71

78 -0

1-221

17-5

659 - 6

40 -8

23-3

34-10

34-9

2475 -5

5026 - 2

321-8

36, 63]

56, 220]

[9, 213]

84, 240]

88, 0]

[124, 221]

81, 85]

24, 3954

492, 320]

(75, 69]

[117, 340]

[110, 306]

3249, 12375

[5887, 10 052]

820, 2568]

Per info contattare: speak@redooc.com



